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ECONOMICS — GENERAL
Fourth Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Group - A
(Marks : 50)
Unit - 1
1. Answer any two questions : 5%2

(a) What is the definition of surplus labour?

(b) What do you mean by Human Development Index (HDI)?

(c) What do you mean by balanced growth strategy?

(d) What is capital formation?

(e) What do you mean by direct foreign investment?

(f) What do you mean by optimum population?

(g) Mention any two functions of International Monetary Fund (IMF).
(h) What do you mean by ‘forward linkage effect’?

Unit - 2
Answer any one question.

2. What is economic development? Distinguish between economic development and economic growth. Are
net national income and per capita income indicators of economic growth? 4+16+20

3. Describe the unbalanced growth theory. How far is this development theory acceptable in less developed
countries? 32+8

4. Discuss the relation between population growth and economic development. Explain the role of
International Monetary Fund for the economic development of LDCs. 20+20

5. Discuss different forms of Foreign Investment. Discuss different forms of Gender Inequality. 10+30
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Group - B
(Marks : 50)
Unit - 1
(Marks : 25)
6. Answer any two questions : 5%2

(a) Define opportunity cost.

(b) What is non-tariff barrier?

(c) State two assumptions of Ricardian Comparative Advantage Theory.
(d) Distinguish between current account and capital account.

(e) What is trade balance?

(f) Define prohibitive tariff.

(g) Give two arguments in favour of Protection.

(h) Mention two advantages of fixed exchange rate.

7. Answer any one question : 5%1
(a) Describe the effect of tariff on domestic supply of importable goods.

(b) What do you mean by gains from international trade? Illustrate with the help of an example.

8. Answer any one question :

(a) What is comparative advantage of trade? Briefly explain the concept of gains from trade in Ricardian
framework. 3+7

(b) Discuss briefly the arguments for and against protection. Discuss the concept of economic costs of
tariff. 5+5

Unit - 2
(Marks : 25)

9. Answer any two questions : 5%2
(a) Define geometric mean with an example.
(b) Distinguish between population and sample.
(c) What is cumulative frequency?
(d) What is Range?
(e) Give two measures of collection of data.
(f) Define curve of concentration.
(g) Mention two advantages of mean.

(h) State the formula of median for grouped data.
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10. Answer any one question : 5%1
(a) Find the arithmetic mean from the following data :

Class 15-25 25-35 35-45 45 - 55 55-65
Frequency 2 5 19 7 4

(b) Draw an Ogive (less than type).
11. Answer any one question :
(a) Compute the standard deviation and variance for the series.

x 110 117 129 300 357 100 500 630 10

(b) Write different measures of Relative dispersion. Explain the concept of Lorenz curve. 3+7




